
ASSEMBLY   INSTRUCTION

1

If you encounter any difficulties (e.g., missing parts, damaged
parts, unsuccessful assembly, etc.) during assembly, do not
hesitate to contact the seller directly. Replacement parts are
available for any damage or missing parts. The after-sales team
will get back to you within 24 hours.



ASSEMBLY   INSTRUCTION

2

1

2

3

5

6

7

8

9

10

11

11

13

14

15

16

17

18

19

20

4

10

16

17

18

19

20

12

12



3

M6x64mmBKM6x40mmA M15x11mmC M5x40mmD

M4x14mmFM4x18mmE M3.5x14mmG 6x50mmH

JI K

L N O

P Q R

T

ASSEMBLY   INSTRUCTION

X20 X4 X28 X20

X5 X40 X51 X28

X3 X2 X2 X5

X6 X6 X2

X1 X3

X3 X1

L 300mm

CL DL CR DR

right

Left

M

M4S

X1

X2

140mm 134mm



ASSEMBLY   INSTRUCTION
1

4

2 3

X1 X1

4 5 6

X1 X1

7 8 9

10 11 12

X1

X1 X1 X1

X2 X2 X2

X1



ASSEMBLY   INSTRUCTION
13

5

14 15

X1 X1

16 17 18

X2 X2

19 20

X2

X2 X2

X1



STEP 1

ASSEMBLY   INSTRUCTION

STEP 2

6

1

2

B

*2

M6*64 C

*4

M15*11

B

BC

C

C

Please place accessory B in
the center position and lock

accessory C at the same time

I

We need to divide
accessory I into two.

I

*3

G

*6

M3.5*14

1

2

I

I

I

G *2

G *4

C

H

*2

8*50

H *2

Tighten accessory C manually;
do not use a drill.



STEP 3

ASSEMBLY   INSTRUCTION

STEP 4

7

2

1

CL
CR

J

*2

L 300MM

CL CR

G

*8

M3.5*14

G

G

G

G

G

G

G

G

5 6

A

*12

M6*40

A

A

A

A

A

A

A

A

A

A

*2

*2

Distinguish between left and
right drawer rails and their

correct orientation.



STEP 5

ASSEMBLY   INSTRUCTION

STEP 6

8

C

*6

M15*11 H

*8

8*50

2

1

5

7

8

9

8

7

6

5

1

2

C

*6

M15*11 H

*4

8*50

C

C

C

C

C

C

H *4

H *2

H *2

C

C

C

C

C

C

H *2

H *2



STEP 7

ASSEMBLY   INSTRUCTION

STEP 8

9

10

10

H

*12

8*50

5

6

7

8

9

H

H

H

H *2

H

H

H

H

H

H *2

11

11



STEP 9

ASSEMBLY   INSTRUCTION

STEP 10

10

B

*2

M6*64 C

*4

M15*11

Please place accessory B in
the center position and lock

accessory C at the same time

D

*12

M5*40

3

4

D

D

D

D

D

D

D

D

D *2

D *2

4

3

B

C

C C

C B

H *2

Support the middle connection when
moving the top and bottom plates to
prevent breakage.

Tighten accessory C manually;
do not use a drill.



STEP 11

ASSEMBLY   INSTRUCTION

STEP 12

11

O

*2

F

*10

M4*14

O

O

F *5

F *5

N

*6

F

*30

M4*14

F *5

F *5

F *5

F *5

F *5

F *5
N

N

N

N

N

N

3

4

4

3



STEP 13

ASSEMBLY   INSTRUCTION

STEP 14

12
*1

Q

Q

Q

M

*2

L

*6

L

L

L

L

L

L

M

M

4

3



STEP 15

ASSEMBLY   INSTRUCTION

STEP 16

13

18

19

2017

18

17

20

D

*8

M5*40

D *2

D *2

A

*8

M6*40

16

A *2

A *2

×2

P

*1

G

*1

M3.5*14

G

P

When pasting the LED light strip,
the position is as shown in the
figure. First, remove the
double-sided tape and then fix
the R accessory



STEP 17

ASSEMBLY   INSTRUCTION

STEP 18

14

K

*2

E

*2

M4*18C

*8

M15*9

C *2

C *2

16
K

E

16

G

*8

M3.5*14 J

*2
DL DR

L 300MM

G

G G

G

DR
DL

×2

×2

Distinguish between left and
right drawer rails and their

correct orientation.



STEP 19

ASSEMBLY   INSTRUCTION

STEP 20

15

CL DL

CR
DR

Note that when the drawer is
installed, it is inclined upward
and the bottom wheel of the

drawer is stuck in the CR and
CL rail grooves.

G

*9

M3.5*14 K

*1

E

*1

M4*18

*1

I

*1

R Left

E

K

G *2

G *2

I

R

13

13

13

12 G *5

Remove the protective film from
the acrylic door before

assembly.



STEP 21

ASSEMBLY   INSTRUCTION

STEP 22

16

*1

S rightG

*9

M3.5*14 K

*1

E

*1

M4*18

*1

I

*1

S rightNo.1

No.2

No.3

G*2

G*2

I

R

13

13

12G*5
E

K

13

No.1

S

No.2

No.3

13

Remove the protective film from
the acrylic door before

assembly.



STEP 23

ASSEMBLY   INSTRUCTION

STEP 24

17

G

*2

M3.5*14
No.4

No.5

No.2

No.1

No.3

No.1

No.2

No.3

13

14

G *2

R

*1

R Left



STEP 25

ASSEMBLY   INSTRUCTION

STEP 26

18

G

*2

M3.5*14
No.4

No.5

15

*1

S rightG

*4

M3.5*14 K

*1

E

*1

M4*18

*1

I

E K

G *2

G *2

G *2

I

S 15



STEP 27

ASSEMBLY   INSTRUCTION

STEP 28

19

No.2

No.1

No.3

No.1

No.2

No.3

*1

R Left

15

15
G *2

G

*2

M3.5*14

No.5

No.4


